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:true
5>2 and 5<10 : the result is true 2 and
3>1 and 3>5: the result is false
4<>2 and 4<=4: the result is true
S basaa dahaiall Aland) iyl s (0 of S
true el dleall dai .
6>3 or 6>10 : the result is true * =
3<1 or 3>5: the result is false
not(3>1): the result is false
not(3>1) or 3>4: the result is false . et
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: python 3 531 Lulusdl Jaadl 550 suxl : JUs

python code output
1 13/2 6.5
2 13%2 1
3 13//2 6
4 10**2 100
5 6*3 18
6 5+4 9
7 10-6 3
x=4 y=2 z=6: i ,lJ = python iy 3is¥ Lasll peadl 750 Sazgl © Jls
python code output
1 X >y True
2 z<y False
3 x =4 True
4 not(x=y)andz<y False
5 y<>z and not(x=y) True
6 X=y Or X>(z-Yy) False
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nl=input("Enter numberl: ") 222

n2=input("Enter number2: ") Enter numberl: 5

result=nl+n2 Enter mu_ﬂberZ: 4
the result = &4

print("the result = ",result)
>>>

boaaall Jigo : Ll »

o g bl il il g 35505 3
L g 908 J) sl Lo sl Nt () Do 535,50
varName=int(input("aw "))

L S sae ) yicill dagd Jyesal float () o pussus O
varName=float(input("aL)"))

G Ao B (soasd) il dagd Jygsd SEE (1) Al pusiins O

varname=26 Q
varnamel=str(varname)
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ieillafgs O 1 2 3 4

city=["muharraq", "manama","riffa"]: i pd Je Bgiall $5523 ol oSow 9

c=["muharraq",65, "riffa", 23] : Led sl g Luaidl ) 50 30 0955 B
city=["muharraq", "manama","riffa"] : salliclb O

3 doladins) (o 1 ¢ INAEX oy Sk 2830 A ghal) pb o0 Ao JSI a5l gl U S
t JUL 3 LS Dol ol g¥) g ldiaadl il 3 Lo Jolasl o Lgsie Ll ool Jf J g0

45 gaal) pd Muharraq Manama Riffa
index 0 1 2
>>> city=["muharraq", "manama"”,"riffa"]
muharraq pr‘int(city[@])
manama print(city[1])
ritta print(city[2])
>>> (2) (1)
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Lgiall pl.pOP (Value) | aBgll o5, 3> | X = Max ( &siall pul ) dosd 51
X =giall polindex(value) | sl Bdgo a5 | X = min (&gasll ol ) Loud 31
X = sl pol.SpIit( ) X = sum ( &guall ol ) £ g0l
8 giao § dndgy iiill (S gioms ppesl X = abs ( &gaall ol ) Gl
X = sorted ( Wsall sl ) | saclod s 5

x = sorted ( 4l ol reverse=True)
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I gud) plasios] iy b s 330 A1 U0 gl pladii piges : A gl o I gall plasiios] dlial O

city=["muharraqg", "manama","riffa"]
age=[25,18,22,23,17]
num=[2,-8,3,-9,-12]

rdel () DIl plasialy CILY Dgans 5o Jg¥) paiadl i) >

>>> .
[ 'manama', 'riffa'] d@l(Clty[@])
>5> print(city)
(2) (1)
: Max () Ul plasdioly age Dgias 3 dod el ol >
e x=max (age)
>>> pr‘int(x)
(2) (1)
;N () DIl pladiul A Wgias 3 dad BT olus) >
o8 x=min(age)
17 .
oo print(x)

(2) (1)
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;SUM () A1l plasinl AZE Lgins 3 il 3030 Slus) >

>>> x=sum(age)
105 . t(X)
s prin

(2) (1)

Gagil] p3g0 3ga>3 xo ADS (1) Wl plasiiesly NUM & gins § ddld pil) Al dagll] olws) >

s g Al doudl) ol o

77 x=§bs(num[1])
>>> pl"ln't(X)

(2) (1)

: sorted () DI plasiuly e Wgins 3 Laelad Lus 5 dpasad) puidll s 30 >

>>> x=sorted(age)
[17, 18, 22, 23, 25] ]
s print(x)

(2) (1)

. sorted () Ui plasinl age Lgins 3 LI3L5 Lus )5 daosadl puldl) s 13 >

>>> x=sorted(age,reverse=True)
(25, 23, 22, 18, 17] )
>>> print(x)

(2) (1)
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. index () L1 plasinly city 4 ghall § ue yaie pdgo o b il >

7 x=city.index("manama")
o print(x)
(2) (1)

: SPLE () DI plasiinly pwisie § & ginas 3 Ly 155 9 SlalS ) il s >
y="welcome to computer lab"
x=y.split()
print(x)

>>>

['"welcome', 'to', 'computer', 'lab']
>>> |
: append () Wil plasiuly City Lganll §aas e 3| »

city=[ "muharraq”, "manama”, "riffa"]
city.append("hidd")
print(city)

>>>

[ '"muharraq', 'manama', 'riffa', 'hidd']

>>>
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: POP () Do plasinly asdge s AZE Wgiall o i i >

age=[25,18,22,23,17]
age.pop(3)
print(age)

>>>

[25, 18, 22, 17]

>>>

. remove ( ) aJlo r‘dﬁwl.) 43.0.39 Cw> AgZE Z@M‘ O s NEXES >

age=[25,18,22,23,17]
age.remove(25)
print(age)

>>>

(18, 22, 23, 17]
>>>
D Sl oY) oo Dgiall olie Lol 2

age=[25,18,22,23,17]
print(age[-1])

>>>

17

>>>
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import random

| |
' !

randrange()] [ randint () ] [ random () ]

. random () a1, »

335 p3d yuiSie migblel o a0 < 1.0 31 0.01 O $ e Sl sae e Jgal] A1l 038 padiis
. ol ) iy g p3ils 8 y0 JS 3 sy o3 01 ol Bad ¢ alslay Slgdadl Las Y Ao

import random
x=random.random()
print(x)

>>>

0.58447530138604

>>>
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. randint () &1, >

ks 9 Il Lolay apasd w0 pusmo Slgie vae o Jganl] D1l 038 pusiins

import random
x=random.randint(1,6ﬂ
print(x)

Shell

>>>

>>>

. randrange () U, »
D Gb Saay Jnadl apand e Slgde vas HLusY J13) san L

130 20 Jlanadl a5 o5 1 JUIJBL J LS ¢ jaall 50 T damme Il o Slgies woe sl .1

(Il gad J30 ¥ 20 5 01) 19 0 oy Shgall 05 01 6 g5

import random
Xx=random.randrange(20)
print(x)

Shell

>
19

>>>
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(Jladl o J50 ¥ 3105 90) 30 520 (s Slgeadt o5 J1 g5 130 ¢ 31 31 20 o Sl

import random
x=random.Pandrange(ze,Blﬂ
print(x)

Shell

>>>
23

>

33:uJUJ!Jb“.II%'gLoSc433%3435@3435@.&493@JMJL?AW‘;IWJ;;JQS.&! )
RGN P IOV PESIPC I JUPC AR o JUIPUERTIP . JPIC JOVPIN B/ JUVRER
15-12-9-6-3

import random
x=random.randrange(3,18,3)
print(x)

Shell

>
12

>
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13) Adult Db, (50 ¢ pandl Jsof pasiiadl oo Qb « PYthon Gl “wb 681 1 U

A8 o st peadl cils

Shell

>>>

>>> |

age=int(input("Enter youe age"))
if age>18:
print("Adult")

Enter youe agel9
Adult
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: dlolSII b 21 dlasdl >

e Wl § ol oo by §ind o Iely Suomo dammo gy ol gl Suisisd Aols) dab pdl Lol plasiios) o3

o

:‘gtﬁE50353‘9g5,$iaaew,a ,dgi&dﬁﬁfﬁac.bgﬁdllla(§l>3

ZaquSSUﬂJo
sl . pd
O Bl I3 if sasadl byl o by LS aa
Qo il ol oY) Lo \
byl §iss oe Al —> b2l §ins e dadld) duae ) yolgY)
bl Glad g9 JIy else: < else L,us way : LUS el 40
o) slgisl Suad
aﬁbjﬁﬁ‘ - —> l{rﬁd‘é¥t>3 rdﬁ Qﬁvaéystu‘ELF?AJQJ‘JA[{S‘

130 Adult DL, oo e ¢ adl Jsof pasindl 5o iy « PYthon Ly, “bul 6 ¢ JGs

child DL 1 o el ¢ &5 e peadl o5 13) ¢ 18 o ST el cils

age=int(input("Enter youe age"))
if age>18:

print("Adult")
else:

print("Child")

Shell

>>>

Enter youe agelb
Child

>>>
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s A1l b a1 dasdl >

:“gtﬁusng33l*JHagtU‘aéewjgﬁﬂrd33|3igjﬁﬁ|Qodd&.ﬂyagd&s&l&Lﬁﬁ‘aébjiﬁ‘almeJ‘Nqﬁﬁﬁd

if 1,0 @ 7| RSl

Moz S0 Blus 5 e b 2l LS s
sl Lo I ol g| = — ) - :
1L 2 giss oe A3l s ) ol gVl
1b 20 giss oe

2 agUSiﬂstro

. f?lii?zz oA IR
I bl b g9 s o b ) S aay

1 b sl Aasd) Gl >

2 b i) Giss oe dasldl Lo ) ol oYl
elif uss 2 b5 cud

else: else s uny : 4 3l 0

G Lo 5 S1 a5 pe > — l{}&,sgié¥t>ﬁ pus sta;ySEQ‘ELy?AJgJ‘J»[;S|

1) child @l (o ¢ joadl Jisaf pasiadl go iy ¢ PYthon Ly “lawb i) @ U
Dol bl 18 o jiol ol ols 13) 5 child Dl g1 poyel ¢ 12 o il yaadl culs

CAdult DL g obl 5 2 15 13) s Teenager

age=int(input("Enter youe age"))
if age<12:
print("child")
elif age<18:
print("Teenager™)
else:
print("Adult")

Shell

>>>

Enter youe agel’
Teenager

>>>
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for &I Sl Lasl

in string

3 iy ) S50 L]

.

9“"" 5

J

|

. (.
in list in range
dy | Sl ddosd) dy | ySal) ddosd)
45 ghoo § sae Jle 3
. J .

N

J

: range suss Jlre JfOr 4,1 sl dlasyl >

2\.’@#|@3)3co.‘.’a‘,i‘g,.o.}dé-oJ@omwﬁybiwjﬁwwﬁﬂw‘ehw

for

: dJl

S5l et inrange( )

— ) S el il ali S Lo gl ol oY) sser

dlod g9 g ¢ WMbupJM|www@ajm

print(c)

for ¢ in range(5,11):
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: Baaall 3 for 4 ) su dasd) >
o5 3 0 Wghas) poliadl 5o same sas Jsa] 3 Ayl S5 Laad] TANZE Jlrall pusins of oS

‘WM‘ f“"" =[ ] : dd U iy )l
for LS5 ase 1N range (JBoYl ol sas )

— JBsY des
—> Dgiool] poiall DBLo) dos

1s 4 ganl 3l deﬁi K) BlsL Hﬁ,g C‘l"J" s}.'a35| s JUs

1s=[] # dadls jaziall o= _p._:‘r__:tl
' i in range(3): #Jlxall Lsaxs

item=input ("enter an integer:") #auneo due JLso|

1s.append (int (item)) #FdaSlall Il aumall daxldl asls)
print ("The list entred is:",1s) Flgllso] 1y daslall pye

enter an integer:1
enter an integer:2
enter an integer:3
The list entred 1is: [1, 2, 3]

A8 Jla Chu gy Jal 1 2 A aal) B ada adladiae B pia ) ¢ aSladlae ddgdat f; alae)




: Baaall 3 for 4 ) su dasd) >
= 50 Lgale Doy yolgl o) Y ol Lsield 9 Sl s gimo 82138 oo dana ol Aol 0 LidSa
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for LS5 pase 1N Dgaall pwl () -
— S usbe delb
D U B ghall 3 d poll slowd o ol JS 15 DOl § e el gy ol e 381 1 Jls

names=["amal", "noor"”,"sara", "mona”

names=["amal","noor", "sara","mona"
for i in names:
print("hello”,i)

Shell

22>

hello amal
hello noor
hello sara
hello mona

22>

. String oo aie 3 fOr i) <o) ddesd) >
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JS delb (o oS ¢ Ay ) S0 el (ol Jlnadl 98 0950 Aol doil) jpiio plasiieo] oSay

o gl ol g1 Cilise 3 Lgmo Joluaidl gl sus e O3 >

Sname="sameera"
for 1 in Sname:
print(iﬂ

Shell
53>
5
a
m
[
e
r
a
53>
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Result = num * num
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I oo Jab ol 3 odid) oIS 1] ayamdy gl yoe oobusd duidus Ay 3 e 41 /2o

] ol ghsl

A L) Jios 2023 i Jaxly Cyear ol puiso 3,0 .1
Byear s 3 Lpbisly passll 0 L J5
age = Cyear — Byear : i yul {dan)l INS 0o podidl jos Sux

SAdult” s, Le bl

2

3

A8 oo ST ol jee ols 13 4
S5

LD uk ols 13) .6

g

Cyear = 2023

“Child” 5 e bl

Age = Cyear - Byear

no yes

Age
> 18
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: Ao dday o3 31 JUI e widl 0sdl Jg> /3L

color=input("Enter red, yellow or green color only!")
if color == "red":
print("STOP")
elif color == "yellow":
print("GET READY")
elif color == "green":
print("G0")
else :
print(“"chosse red, yellow or green color only!")
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L &1 3 05 ) wlielas oo e oo dises Flow Chart  £au5 iy 5 a0 /4060

D ol ol OuUTPUT:
3
1 for i in range(3,13,3): 6
2 print(i) 9
12

: g3 iy L Yl
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